4 3 v 2 1

REVISIONS
REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
01 - 5/2005 ER1083 SH UPDATE CODE REFERENCES
CLOPAY MODEL 902, 903 /
IDEAL MODEL C2AL, C3AL UP TO 22’-2” WIDE X 18'-0” HIGH 02 - 11/2008 - - ADDED MPC; UPDATED JAMB ATTACHMENT.
03 - 02/2012 - - UPDATED WINDCODE CHART
THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE "
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE DOOR IS MADE SECTION 1 - 1 3" TALL x 20 GA. GALV. STEEL (MIN YIELD STRENGTH
7% OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE OF 6063—T5 ALUMINUM EXTRUSIONS. / 50KSI) U—BAR. ONE AT THE TOP OF EACH SECTION EACH
7 HOR D BOR INTTALLER (10, U IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS P g K AILS ——— 075 U-BAR ATTACHED WITH (2) 1/4"43/47 SELF TAPPING
7 TOP HAS .1 x 1.875" FIN
2z R TP R A ND STILES 070 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH BRACKET
3" GALV. TAPERED STEEL TRACK AND ANGLE, e CENTER STILES "062 ATTACHED W/(4) #14x5/8” SHEET METAL SCREWS.
1~ TRACK THICKNESS: .101". ANGLE THICKNESS: .080 ADJUSTABLE SLIDE ATTACHED TO TOP BRACKET WITH QTY
T VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING J Cal o [y 7 - (2) 1/4" X 1/2" BOLTS & NUTS PER BRACKET. TWO
£ JUNCTION. TWO 1/4" BOLTS |—— FROM LAST MOUNTING i BRACKETS PER SIDE
S 4 & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION C—CHANNEL SEE SECTION |
¥ -\ 1-1 FOR DETAILS y
x ADDITIONAL MOUNTING SLOTS REQUIRED FOR DOORS ~ STRAPS ATTACHED WITH (3) 1/4" X3/4" SELF
x AL =
g 1 OVER 7'0" HIGH SPACED AT 12 CENTERS. TPEI)JF;JU%?EELE_\ TAPPING SCREWS (TWO SCREWS TO DOOR, ONE
p TRACK CONFIGURATION BRACKETS SCREW TO C—CHANNEL). SEE REAR ELEVATION
FOR PLACEMENT.
g ONE %" TRACK BOLT AND NUT i
a I AT EACH MOUNTING SLOT o e e — :_.— — 3
g LOCATION. FULL-VISION SECTIONS TO_—|
o BE 1/8" DSB GLASS OR
s 1 DOOR 4 1/8” ACRYLIC, HELD IN
g HEIGHT [ "L” PLACE WITH SNAP—IN
8—0"| 88" uax. HEGHT: | | 4— OPTRZING BEAD. 6"x2—1/4"x12 GA. GALV. STEEL PLATE.
I 9'-0" [100” TWO POINT 180 | | | | I GLAZING IS PLASKOLITE SEE VIEW "E".
BERY 12 (10— 0" (112" LOCKING ——— -».’ s OPTIX, AN APPROVED CC2
| =0 " ReQD I PLASTIC IN COMPLIANCE
o 1‘%—8 128" Q- I I S, I |.| WITH FBC / IBC 2606. DOUBLE END ROLLER éé;’é%%ﬁ”%f{ METAL
T — I ————————— HINGES OF 14 GA MIN
15°-071727 I | GALV STEEL, FASTENED AS CENTER OF EACH HINGE
TR 7WE SHOWN IN VIEW A.
-1/ 16—07]184" : \ B T—— 9 STRAPS PER SECTION a &
¥ 3 W . 1! [ AS SHOWN
17,_0, 196,, 3" ROLLER CARRIER L A\ \ O JD]")_Q_GE%E
18 —01208 PART # 0120394. <___I I—@ +—1 \ END_HINGES
» SELI—M %%Tfuﬁg Hsgrlgwg / N ge’2” MAX. DOOR WIDTH ONE 6" TALL, 16 GA. C—CHANNEL
DOOR HEIGHT ‘A’ [NUMBER OF AS SHOWN NOTE FOR 902, C2AL: \ PER DOOR SECTION. (1) A
SECTIONS CENTER STILES. ALWAYS 22° PANEL IN BOTTOM SECTION _DOOR 1/4°X3/4" SELF TAPPING
UP 1O 8'-0 2 FROM CENTER TO CENTER. CAN BE .050" THICK SMOOTH ;é; XE:,’N/D4 S%EEFAL%PFQRSK%REW SCREWS. QTY. (2) ALONG
8’-3’ THRU 10'-0* S FOR ANY GIVEN DOOR AT THE CENTER OF EACH C—CHANNEL ALUMINUM. PLATE LOCATION. (SEE VIEW "D") CORNERS OF EACH HINGE
10'-3“ THRU 12'-0” 6 WIDTH, DIMENSION ’B’ THIS ATTACH THREE 6"x2—1/4"x12 GA. STEEL :
12'-3* THRU 14°-0° 7 DIMENSION WILL NOT BE PLATE TO THE UNDERSIDE OF THE THE VIEW "A”
14/-37 THRU 16'-0° 8 GREATER THAN 40" OR C—CHANNEL WITH (4) 1/4"x3/4" SELF
16’-3" THRU 18°-0 9 LESS THAN 18" TAPPING SCREWS.
VIEW "E"
BOTTOM ROLLER BRACKET OF 12 GA. GALV. STEEL,
E:?LSST\BE% EGEEEEEBGE 6" FASTENED WITH (4) #14 X 5/8" SHT MTL SCREWS
CENTER STILES FASTENED TO RAILS S/16 STEEL RODS AND
. MAY BE BACK— WITH FPULL LENGTH S/167 STEEL FLANGE NUTS " ' - THIS DOOR MEETS OR EXCEEDS THE DESIGN LOADS FOR THE
g{é SL Jh:\lué FILLED ‘WITH RODS AND FLANGE NUTS OR-LOVLY CENTER HINGES ON 2-1/2 ULTIMATE WIND SPEEDS LISTED BELOW ACCORDING TO THE FLORIDA
CONCRETE, BUT EVERY OTHER STILE STARTING ] » BUILDING CODE OR THE INTERNATIONAL BUILDING CODE (BASED ON
NOT REQUIRED. WITH CENTER OF DOOR. VIEW "D 5/8 (TYP.) ASCE7—10) FOR THE FOLLOWING CONDITIONS: 1) ENCLOSED

6" TALL C—CHANNEL BUILDING, 2) DOOR HAS 2' OF WIDTH IN BUILDING'S END ZONE, 3)

16 GA. GALV. STEEL ANY ROOF SLOPE, AND 4) TESTING IN ACCORDANCE WITH

MIN YIELD STRENGTH SOKSI / ANSI/DASMA 108. SITE-SPECIFIC CALCULATIONS BY A QUALIFIED
DESIGN PROFESSIONAL MAY DIFFER.

COR-LOVLY CENTER HINGE OF 16 GA. GALV.
STEEL, ATTACHED TO INTER. BOTTOM RAIL

VITH (2 #14 x 5/8° SHT MTL SCREWS AND
STEEL JAMBS TWO INTER. TOP RAIL WITH (2 1/4 - 20 x PUSH NUT

1/8"x1" LONG

FILLET WELD (EBOXX
ELECTRODE MIN.). WELD
TO BE LOCATED VERTICALLY,

3* STEEL LONG
STEM ROLLER

BOTTOM SECTION REINFORCED WITH A TEMPERED
ON ANGLE AT 24" 12 GA. GALV. REVERSE 172 HEX HEAD MACHINE SCREWS & NUTS REINFORCING FIN ON INTER. TOP ALUMINUM EXTRUSION WITH INTEGRAL RETAINER FOR ULTIMATE WIND 140 145 150 160 175
SIEEEE$OQN3F1K;GL-I[: %K " OR CONTINUOUS ANGLE SECTION 2 — 2 RAILS ANGLE CUT AT END STILES FLEXIBLE VINYL ASTRAGAL SPEED (MPH>
SAME SPACING. MOUNT TRACK FASTENED — SECTION 4 - 4 EXPOSURE
DIRECTLY TO STEEL JAMB CATEGORY B,C,D|B, C,D| B, C B, C B
ETE B SECTION 5 — 5 EE BS WOOoD JAMBS
HOOD JAMBE OFLCONCR CONCREIE JAMBS SIEEL JAM Yo !/ M. MEAN ROOF HEIGHT | 25/ 15' 25’ 15' 30"
v 2,000 PSI MIN "
CONCRETE CONCRETE 3/16" MIN. STEEL ggRE[‘)” ZV(’,ASHE'}( THE DESIGN OF THE
3/8" DA x 1-1/2" JAMB R 0 A SUPPORTING STRUCTURAL DESIGN ENGINEER: MARK WESTERFIELD, P.E.
MIN. EMBED SLEEVE ANCHOR . . 1/473 /4" LG o Woon SANE ELEMENTS IS THE RESPONSIBILITY FLORIDA P.E. #48495, NC P.E. #235:52 TEXAS P.E. #91513 MANUFACTURING PRODUCT CODE:
BOLT. WASHER INCL'D. 1/47x1-1/2 MAY BE BACK-FILLED - OF THE BUILDING ENGINEER OR DESIGN LOADS: +30 & —30 P.S.F v C— -
. MIN. EMBED TAPCON WITH CONCRETE, BUT SELF TAPPING TO WooD ARCHITECT OF RECORD. MPC: C-AL—-1F 499
147 MAX. 2. CONCRETE FASTENER REQUIRED FOR SCREW. STRUCTURE. - TEST LOADS _+45 & —45 PSF.
TO SECURE 2x6 JAMB S WASHER REQ'D. | SELE TAPPING. SCREW. 16" MAX. 0.C. 1-1/8" DIA. WASHER REQ'D. Unless Stated Otherwise | (I 8585 Duke Boulevard CLOPAY WINDLOAD RATING
| ™ DA nezeo oA oc MGLETO Rt I N TOLERANCES ore |\l I}Io ay Yoo %00 gm0
’ TO SECURE ANGLE ANGLE TO are y 513—770—4800 \/\/ 5
STEEL JAMB.
/ TO CONCRETE. CONTINUOUS ANGLE 0 = +.031 Building Products Company Fax No 513-770-4853
CONTINUOUS ANGLE = 1A
FASTENED TO 2X6 #2 .00 = £.015 . -
%Aguzri%TgchngEEE_ggn ngB%Eg v‘;ﬁlﬁmgfz CLOPAY CORP. 000 = £.008 DESCRIPTION: M/N 902, C2AL, 22'2” WIDE DES. +30/-30 PSF
gﬁé.os\,u/fgyxﬁ_.us\%a_\f{ry REVERSE OR CONTINUOUS REVERSE OR CONTINUOUS gé;g;lmP_E%/a'Lg_m ALL RIGHTS RESERVED. .0000 = +.001 DRAWN BY: BFA DATE: 11/12/04 SCALE: NONE DWG.
A N R TRACK FASTENED DIRECTLY ANGLE MOUNT TRACK TRAGK CLiP , Degrees = +1/2° |CHECKED BY: - DATE: — SHEET 1 OF 1 [SIZE
CLIP LOCATION. T CONCREIE FASTENED DIRECTLY LOCATION Third Angle :
' 1O STEEL B ' Projection DIMENSIONS ARE N NGHES.| DWG. NO.: 103324 VER:  IBC

A
4 FLB(@RHDA PRODUCT ARPPROVAL 56‘7



